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M O D E L  S E T  –  I I I  Ák:i Á’u i= & III 
 

Zoology (Biology II)  

 

Question 1 -10 of one marks each. Objective type question (Multiple choice - at least four choices) 

Á’u la[;k 1&10 ds fy;s ,d&,d vad fu/kkZfjr gSaA 

1. Which of the following cells present in the mammalian testes help to nourish sperms 

a) Leydig cells 

b) Oxyntic cells 

c) Interstitial cells 

d) Sertoli cells  

Ans. (d) 

1½ Lru/kkfj;ksa ds o`"k.k esa dkSu lh dksf’kdk;sa ik;h tkrh gS \ 
a)  yhfMx dksf’kdk;sa  
b)  vksDtsufVd dksf’kdk;sa 
c) bUVjLVªhfl;y dksf’kdk;sa  
d)  lVksZyh dksf’kdk;sa 

 
2. Ring worm is a  

a) Fungus 

b) Helminthes 

c) Ascaris 

d) Amoeba 

Ans. (a) 

2½ nkn ¼fjaxoeZ½ fuEufyf[kr esa ls fdlds }kjk gksrk gS \ 
a) dod ¼QatkbZ½  
b)  Ñfe ¼gsyfeaFk½ 
c) ,sLdsfjl  
d)  vehck 

 

3. Fertilization outside the body is known as 

a) In vitro 

b) In vivo 

c) Both (a)&(b) 

d) None of the above 

Ans. (a) 

 
 

 

Total Marks 35 All questions are compulsory 

 

Time 1½ hrs 

Total number of questions – 18 

 

  

01 (one) marks – 10 

 

02 (Two) marks – 03 

 

03 (Three) marks – 03 

 

05 (Five) marks – 02      
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3½ 'kjhj ds ckgj gksus okys fu"kspd dks D;k dgrs gS \ 
a) bu foVªks 
b)  bu fooks 
c) nksuksa  
d)  buesa ls dksbZ ugha  

 

4. PCR stands for  

a) pure chemical reaction  

b) part create reaction  

c) polymerase chain reaction  

d) partial cytoplasm rate 

Ans. (c) 

4½ ih0 lh0 vkj0 D;k gS \ 
a) I;ksj dsfedy fj,D’ku 
b)  ikVZ fØ;sV fj,D’ku 
c) ikWyhejst psu fj,D’ku 
d)  ikWfl;u lkbVksIykTe jsV  

 

5. Which of the following is the sex linked recessive disease   

a) Sickle cell 

b) Hemophilia 

c) Phenylketonuria 

d) Down syndrome 

      Ans. (b) 

5½ fuEufyf[kr esa dkSu fyax lgyXu ¼lsDl fyaDM fjlsflHk½ jksx gS \ 
a) fldsM lsy ,uhfe;k 
b)  gheksfQfy;k 
c) Qhukby dhVksuwfj;k 
d)  Mkmu flaMªkse 

 

6. “Struggle for existence” in natural selection theory was given by 

a) Lamark 

b) Fischer 

c) Darwin  

d) Muller 

Ans. (c) 

6½ vfLrRo ds fy;s la?k"kZ ¼LVªxy QkWj ,fDtlVssal½ fl)kar fdlus fn;k Fkk \ 
a) ykekdZ  
b)  fQlj 
c) MkfoZu 
d)  ewyj  

 
7. Who is the father of Indian Ecology? 

a) M S Swaminathan 

b) VergeseKurian 

c) Ramdeo Mishra 

d) Prof Yaspal 

Ans. (c) 
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7½ Hkkjrh; ikfjfLFkfrdh ds firk fdls dgrs gS \ 
a) ,e ,l LokehukFku  
b)  oxhZl dqfj;u 
c) jkenso feJk 
d)  ÁksQslj ;’kiky 

 

8. Betla National Park is situated at  

a) Latehar 

b) Palamau 

c) Jamshedpur 

d) Ranchi 

Ans. (b) 

8½ csryk us’kuy ikdZ dgk¡ vofLFkr gS \ 
a) ykrsgkj  
b)  iykew 
c) te’ksniqj 
d)  jk¡ph 

 

9. An general the Pyramid of energy is  

a) Inverted 

b) Upright 
c) Not known 

d) None of the above 

Ans. (b) 

9½ mtkZ dk fijkfeM dSlk gksrk gS \ 
a) mYVk 
b)  lh/kk 
c) ugha tkurs gS 
d)  buesa ls dksbZ ugha 
 

10. Which among the following is a primary lymphoid organ? 

a) Bone marrow 

b) Thymus 

c) Both (a) & (b) 

d) None of the above 

Ans. (c) 

10½ fuEufyf[kr esa dkSu ÁkFkfed fyQksvkWM vad gSa \ 
a) cksu esjks 
b)  Fkkbel 
c) nksuksa (a) vkSj (b) 

d)  buesa ls dksbZ ugha 
 

 

Questions 11 to 13 are of two marks each 

Á’u la[;k 11&13 ds fy;s nks&nks vad fu/kkZfjr gSaA 

11. Write the term used for male and female gametogenesis (1+1 mark) 

 
Ans. Male gametogenesis is known as spermatogenesis and female gametogenesis as oogenesis 

11½  uj vkSj eknk esa gksus okys ;qXedtuu ¼xSehVkstsusfll½ dks D;k dgrs gSa \ 
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12. How many types of blood group found in human being? Which group is called universal 

donor? 

 

Ans. In human beings A,B, AB & O four types of blood groups are found. Blood group O is 

universal donor. 

12½ ekuo esa fdrus Ádkj dk :f/kj lewg ik;k tkrk gS \ buesa dkSu lewg loZnkrk 
dgykrk gS \ 

 

13. Give two examples of connecting link. 

Ans.  Example of connecting links –  

       (i) Echidna is an egg laying mammal and is connecting link between reptile and 

mammals.  

(ii) Archeopteryx lithographica is a fossil bird which is connecting link between reptile 

and birds. 

13½ ;kstd dM+h ¼dusfDVax fyad½ ds nks mnkgj.k nsaA 
 

Questions 14 to 16 are of three marks each 

Á’u la[;k 14&16 ds fy;s rhu&rhu vad fu/kkZfjr gSaA  

 

14. (a) Define male heterogamety  (1+2 = 3 marks ) 

(b) How is sex determined in human being? 

Ans.  (a) In XX XY chromosomal sex determination pattern male is XY and produces two 

different types of gamete – one gamete with X chromosome and other with Y chromosome. 

This is known as male heterogamety.  

(b) In human beings XX XY type of chromosomal sex determination pattern exists.  

14½ (a) uj fo"ke;qXerk ¼gsVsjksxSfefV½ dks ifjHkkf"kr djsaA 
  
 (b) ekuo esa fyax dk fu/kkZj.k dSls gksrk gS \    

15. Write the function of – 

a) Prostate gland  

b) Corpus luteum 

c) Mammary gland 

 

Ans.  (a) Secretions constitute the seminal plasma that contains fructose, calcium and 

enzymes which facilitates the sperm in fertilization. 

         (b) Corpus luteum secretes large amount of progesterone, which is essential for 

maintenance of endomatrium. 
         (c) Mammary gland is the characteristic feature of mammals and secretes milk for the young 

ones.  
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15½ buds dk;Z fy[ksa %& 
 (a) ÁksLVsV xazfFk 
 (b) dkWiZl Y;wfV;e 

(c) esejh xzafFk 
 

16. See the figures given below and answer the question that follow  (1+1+1) 

 

 

 

Sperms 

 

 

(a)          (b)                           (c) 

 

(i) Which hereditary disease will developed if gamete 

      (a) fuses with gamete (c) 

(ii) Name the hereditary disorder in case 

     Gamete (b) fuses with gamete (c) 

(iii) What is gynecomastia? 

 

Ans.      (a) Klinefilter’s Syndrome 

 (b) Turner’s Syndrome 

            (c) Due to Klinefilter’s syndrome breast develops in males the phenomenon is known 

as gynachomastia 

16½ uhps fn;s x;s fp= dks ns[k dj Á’uksa dk mÙkj nsaA 
    

 

 

 

 

'kqØk.kq ¼LieZ½   vaMk ¼vksHkk½ 

 

(a)          (b)                           (c) 

 

 

(i)  ;fn ;qXed  (a) vkSj ;qXed  (b)  laxyu ¼¶;wt½ djrk gS] rks dkSu lk vkuqokaf’kd 
jksx mRiUu gksxk \ 

(ii)  ;qXed  (b) vkSj ;qXed  (a)  ds laxyu ls gksus okyh vkuqokaf’kd jksx dk uke 
crk;sa \ 

(iii)  xkbuhdkseSfLV;k D;k gS \ 

 

egg 

22+xy            22+o                                      22+x 

egg 

22+xy            22+o                                      22+x 
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Questions 17 to 18 are of five marks each  

Á’u la[;k 17&18 ds fy;s ik¡p&ik¡p vad fu/kkZfjr gSaA 

17. Label A, B, C, D & E in the diagram given below 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ans. A – Acrosome 

 B – Nucleus 

 C – Neck 

 D – Middle piece 

 E – Mitochondria 

17½ uhps fn;s x;s fp= esa ls (A) (B)  (C)  vkSj (D) dks ukekafdr djsaA 

 

 

 

 

 

 

 

 

 

Or 

Write the following: (1+2+2 = 5) 

(a) List the various abiotic environmental factors 

(b) Pioneer species 

(c) Climax community 
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Ans. a) Light, Temperature, Water, Soil   

        (b) the species that invade a bare area is known as pioneer species  

     (c) Composition and structure of all communities constantly change in response to the 

changing environment. This changes leads finally to a community that is near equilibrium 

with the environment. This is called climax community.   

vFkok 
 
fuEufyf[kr dks fy[ksa %& 
 

(a)  fofHkUu Ádkj ds vthfo; ?kVd ¼,ckW;ksfVd QSDVj½ dks lwphc) djsaA 

(b)  vxzxkeh tkfr ¼ik;ksfu;j Lihf’kt½ fdls dgrs gSa \ 

(c)  pje voLFkk ¼DykbesDl dE;qfufV½ fdls dgrs gSa \ 

 

 

18. (a) Mention the three observations on which Darwin based his theory of Natural   

Selection? 

            (b) Describe natural selection in Darwin finches. 

 

Ans. (a) Struggle for existence, Survival of the fittest, Natural selection 

 

(b) Shape of the beaks of the Darwin finches changes according to the seeds availability in 

the area (Galapagos Island). It is a good example of divergent evolution and natural selection 

shown in finches for their survival in diversified habitat.  

18½ (a) ÁkÑfrd p;u dk fl)kar MkfoZu us fdu rhu voyksdu ds vk/kkj ij fn;k] 

fy[ksaA 

(b) MkfoZu fQapsl ds ÁkÑfrd p;u dh O;k[;k djsaA 

 

Or  

(a) Complete the equation 

 

      (b)                                                 

     (c)                                                   

     (d)                                                  

     (e)     In the equation (a) carrying capacity is symbolized by  

Ans. (a) r 

(b) d 

(c) t 

(d) r 
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vFkok 
 

(a) lehdj.k dks iw.kZ djsaA  

 

      (b)                                                 

     (c)                                                   

     (d)                                                  

   (e)     lehdj.k (a)  esa ds;fjax dsisflVh dk ladsr D;k gS \ 
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